

*-CRITICAL POINT EQUATION ON $N(k)$ -CONTACT MANIFOLDS

Dibakar DEY¹ and Pradip MAJHI^{*,2}

Abstract

The object of the present paper is to characterize $N(k)$ -contact metric manifolds satisfying the *-critical point equation. It is proved that, if (g, λ) is a non-constant solution of the *-critical point equation of a non-compact $N(k)$ -contact metric manifold, then (1) the manifold M is locally isometric to the Riemannian product of a flat $(n + 1)$ -dimensional manifold and an n -dimensional manifold of positive curvature 4 for $n > 1$ and flat for $n = 1$, (2) the manifold is *-Ricci flat and (3) the function λ is harmonic. The result is also verified by an example.

2000 *Mathematics Subject Classification*: 53C25, 53C15.

Key words: Critical point equation, *-Critical point equation, $N(k)$ -contact manifolds.

1 Introduction

The Ricci tensor S of a Riemannian manifold M is a tensor field of type $(0, 2)$ and is given by

$$S(X, Y) = g(QX, Y) = \text{trace}\{Z \mapsto R(Z, X)Y\}, \quad (1)$$

where Q is the $(1, 1)$ Ricci operator.

In 1959, Tachibana [15] introduced the notion of *-Ricci tensor on almost Hermitian manifolds. Later in [10], Hamada defined the *-Ricci tensor of real hypersurfaces in non-flat complex space form by

$$S^*(X, Y) = g(Q^*X, Y) = \frac{1}{2}(\text{trace}\{\phi \circ R(X, \phi Y)\}), \quad (2)$$

where Q^* is the $(1, 1)$ *-Ricci operator for any vector fields X, Y on M . The *-scalar curvature is denoted by r^* and is defined by $r^* = \text{trace}(S^*)$. In 2018, Majhi et. al.[11] studied *-Ricci solitons on Sasakian 3-manifolds.

¹Department of Pure Mathematics, University of Calcutta, 35 Ballygunge Circular Road, Kol-700019, West Bengal, India, e-mail: deydbakar3@gmail.com

^{2*} *Corresponding author*, Department of Pure Mathematics, University of Calcutta, 35 Ballygunge Circular Road, Kol- 700019, West Bengal, India, e-mail: mpradipmajhi@gmail.com

Definition 1. A Riemannian manifold M is called $*$ - η -Einstein if there exist two smooth functions α and β on M which satisfy the relation

$$S^*(X, Y) = \alpha g(X, Y) + \beta \eta(X)\eta(Y).$$

Definition 2. A Riemannian manifold M is called $*$ -Ricci flat if the $*$ -Ricci tensor S^* vanishes identically.

A Riemannian manifold (M, g) of dimension $n \geq 3$ with constant scalar curvature and unit volume together with a non-constant smooth potential function λ satisfying the equation

$$\text{Hess}\lambda - \left(S - \frac{r}{n-1}g\right)\lambda = S - \frac{r}{n}g, \quad (3)$$

is called a critical point equation (in short, CPE) on M , where S is the Ricci tensor, r is the scalar curvature and $\text{Hess}\lambda$ is the Hessian of the smooth function λ .

Note that if $\lambda = 0$, then (3) becomes Einstein metric. In [2], Besse conjectured that the solution of the CPE is Einstein. Barros and Ribeiro [1] proved that the CPE conjecture is true for half conformally flat. In [9], Hwang proved that the CPE conjecture is also true under certain conditions on the bounds of the potential function λ . Very recently, Neto [12] deduced a necessary and sufficient condition on the norm of the gradient of the potential function for a CPE metric to be Einstein. Similar kind of critical metric was studied by Wang and Wang in [17].

In this paper the following notion is introduced

Definition 3. A Riemannian manifold (M, g) of dimension $(2n + 1) \geq 3$ with constant $*$ -scalar curvature and unit volume together with a non-constant smooth potential function λ satisfying the equation

$$\text{Hess}\lambda - \left(S^* - \frac{r^*}{2n}g\right)\lambda = S^* - \frac{r^*}{2n+1}g, \quad (4)$$

is called a $*$ -critical point equation (in short, $*$ -CPE) on M , where r^* is the $*$ -scalar curvature.

In this paper, we consider the above notion of $*$ -CPE in the framework of $(2n + 1)$ -dimensional $N(k)$ -contact metric manifolds and prove the following:

Theorem 1. Let M be a $(2n + 1)$ -dimensional non-compact $N(k)$ -contact metric manifold. If (g, λ) is a non-constant solution of the $*$ -critical point equation, then

- (1) The manifold M is locally isometric to the Riemannian product of a flat $(n + 1)$ -dimensional manifold and an n -dimensional manifold of positive curvature 4 for $n > 1$ and flat for $n = 1$.
- (2) The manifold M is $*$ -Ricci flat.
- (3) The function λ is harmonic.

2 Preliminaries

By an almost contact structure on a $(2n+1)$ -dimensional manifold M we mean a structure (ϕ, ξ, η) satisfying

$$\phi^2 = -I + \eta \otimes \xi, \quad \eta(\xi) = 1, \quad \phi\xi = 0, \quad \eta \circ \phi = 0, \quad (5)$$

where ϕ is a $(1, 1)$ -tensor field, ξ is a unit vector field and η is a smooth 1-form dual to ξ with respect to the Riemannian metric g . Let g be a compatible Riemannian metric with almost contact structure (ϕ, ξ, η) , that is,

$$g(\phi X, \phi Y) = g(X, Y) - \eta(X)\eta(Y). \quad (6)$$

Then M becomes an almost contact metric manifold equipped with an almost contact metric structure (ϕ, ξ, η, g) . Using (5), we can easily see from the above equation that

$$g(\phi X, Y) = -g(X, \phi Y), \quad g(X, \xi) = \eta(X). \quad (7)$$

An almost contact metric structure becomes a contact metric structure if $g(X, \phi Y) = d\eta(X, Y)$ for all vector fields X, Y on M . The $(1, 1)$ -tensor field h is defined by $h = \frac{1}{2}\mathcal{L}_\xi\phi$, where \mathcal{L} denotes the Lie differentiation. The tensor field h is symmetric and satisfies

$$h\phi = -\phi h, \quad \text{trace}(h) = \text{trace}(\phi h) = 0, \quad h\xi = 0. \quad (8)$$

Also,

$$\nabla_X \xi = -\phi X - \phi hX. \quad (9)$$

The k -nullity distribution $N(k)$ of a Riemannian manifolds is defined by [16]

$$N(k) = \{Z \in T(M) : R(X, Y)Z = k[g(Y, Z)X - g(X, Z)Y]\},$$

k being a real number and $T(M)$ is the Lie algebra of all vector fields on M . If the characteristic vector field $\xi \in N(k)$, then we call a contact metric manifold as $N(k)$ -contact metric manifold [16]. However, for a $N(k)$ -contact metric manifold M of dimension $(2n+1)$, we have ([4], [5])

$$h^2 = (k-1)\phi^2, \quad (10)$$

$$R(X, Y)\xi = k[\eta(Y)X - \eta(X)Y], \quad (11)$$

$$R(\xi, X)Y = k[g(X, Y)\xi - \eta(Y)X], \quad (12)$$

$$\begin{aligned} S(X, Y) &= 2(n-1)g(X, Y) + 2(n-1)g(hX, Y) \\ &\quad + [2(1-n) + 2nk]\eta(X)\eta(Y), \quad n \geq 1. \end{aligned} \quad (13)$$

$$S(X, \xi) = 2nk\eta(X), \quad (14)$$

$$(\nabla_X \eta)(Y) = g(X + hX, \phi Y), \quad (15)$$

for any vector fields X, Y where R is the Riemannian curvature tensor and S is the Ricci tensor. $N(k)$ -contact metric manifolds have been studied by several authors such as ([6], [13], [14]) and many others.

3 *-Critical point equation

To prove the main theorem we need to state the following lemmas.

Lemma 1. ([3]) *A contact metric manifold M^{2n+1} satisfying condition $R(X, Y)\xi = 0$ for all X, Y is locally isometric to the Riemannian product of a flat $(n + 1)$ -dimensional manifold and an n -dimensional manifold of positive curvature 4, i.e., $E^{n+1}(0) \times S^n(4)$ for $n > 1$ and flat for $n = 1$.*

Lemma 2. ([8]) *Let $M^{2n+1}(\phi, \xi, \eta, g)$ be a contact metric manifold and $\{\xi, e_j, \phi e_j\}$ a local orthonormal ϕ -basis. Then*

$$\sum_{i=0}^{2n} g(R(X, Y)\phi h e_i, e_i) = 0$$

for any vector fields X, Y on M .

Lemma 3. *In a $(2n + 1)$ -dimensional $N(k)$ -contact metric manifold*

$$(\text{Div}R)(X, Y)\xi = -4kg(\phi X, Y)$$

for any vector fields X, Y on M , where “Div” stands for divergence.

Proof. It is well known that [18]

$$(\text{Div}R)(X, Y)Z = (\nabla_X S)(Y, Z) - (\nabla_Y S)(X, Z).$$

Hence,

$$(\text{Div}R)(X, Y)\xi = (\nabla_X S)(Y, \xi) - (\nabla_Y S)(X, \xi). \quad (16)$$

Now,

$$(\nabla_Y S)(X, \xi) = \nabla_Y S(X, \xi) - S(\nabla_Y X, \xi) - S(X, \nabla_Y \xi).$$

Using (9), (13)-(15) in the foregoing equation yields

$$(\nabla_Y S)(X, \xi) = 2nk[g(\phi X, Y) + g(\phi X, hY)] + S(X, \phi Y) + S(X, \phi hY). \quad (17)$$

Making use of (17) in (16) and then using (8), (10) and (13) we get the desired result. \square

Lemma 4. *A $(2n + 1)$ -dimensional $N(k)$ -contact metric manifold is $*$ - η -Einstein and the $*$ -Ricci tensor S^* is given by*

$$S^*(X, Y) = -k[g(X, Y) - \eta(X)\eta(Y)]. \quad (18)$$

Proof. Differentiating (11) covariantly along any vector field Z we have

$$\nabla_Z R(X, Y)\xi = k[(\nabla_Z \eta(Y))X + \eta(Y)\nabla_Z X - (\nabla_Z \eta(X))Y - \eta(X)\nabla_Z Y]. \quad (19)$$

Now,

$$(\nabla_Z R)(X, Y)\xi = \nabla_Z R(X, Y)\xi - R(\nabla_Z X, Y)\xi - R(X, \nabla_Z Y)\xi - R(X, Y)\nabla_Z \xi.$$

Using (9) and (11) in the foregoing equation we have

$$\begin{aligned} \nabla_Z R(X, Y)\xi &= (\nabla_Z R)(X, Y)\xi + k[\eta(Y)\nabla_Z X - \eta(\nabla_Z X)Y] \\ &\quad + k[\eta(\nabla_Z Y)X - \eta(X)\nabla_Z Y] - R(X, Y)\phi Z \\ &\quad - R(X, Y)\phi hZ. \end{aligned} \quad (20)$$

Substituting (18) in (17) and then using (15) we infer that

$$\begin{aligned} &(\nabla_Z R)(X, Y)\xi - R(X, Y)\phi Z - R(X, Y)\phi hZ \\ &= k[g(\phi Y, Z)X + g(hZ, \phi Y)X - g(\phi X, Z)Y - g(hZ, \phi X)Y]. \end{aligned} \quad (21)$$

Let $\{e_i\}$, $i = 1, 2, \dots, (2n + 1)$ be an orthonormal basis of the tangent space at each point of the manifold. Now contracting Z in (19) and using (8) we obtain

$$(DivR)(X, Y)\xi - g(R(X, Y)\phi e_i, e_i) - g(R(X, Y)\phi e_i, e_i) = -2kg(\phi X, Y). \quad (22)$$

Now using Lemma 2 and Lemma 3 in the above equation yields

$$g(R(X, Y)\phi e_i, e_i) = -2kg(\phi X, Y).$$

Substituting $Y = \phi Y$ and using (2) in the foregoing equation we complete the proof. \square

Remark 1. *The above Lemma can also be obtained from Lemma 5.3 of [8]. For completeness, we give the detailed proof here.*

Proof of Theorem 1:

Tracing (18) we get $r^* = -2nk$. Substituting the value of r^* and S^* from (18) in (4) we obtain

$$Hess\lambda(X, Y) = -\frac{k}{2n+1}g(X, Y) + k(1 + \lambda)\eta(X)\eta(Y),$$

which implies

$$\nabla_X D\lambda = -\frac{k}{2n+1}X + k(1 + \lambda)\eta(X)\xi. \quad (23)$$

Differentiating (23) covariantly along any vector field Y we get

$$\begin{aligned} \nabla_Y \nabla_X D\lambda &= -\frac{k}{2n+1} \nabla_Y X + k(Y\lambda)\eta(X)\xi + k(1+\lambda)(\nabla_Y \eta(X))\xi \\ &\quad + k(1+\lambda)\eta(X)(-\phi Y - \phi hY). \end{aligned} \quad (24)$$

Interchanging X and Y in the above equation we obtain

$$\begin{aligned} \nabla_X \nabla_Y D\lambda &= -\frac{k}{2n+1} \nabla_X Y + k(X\lambda)\eta(Y)\xi + k(1+\lambda)(\nabla_X \eta(Y))\xi \\ &\quad + k(1+\lambda)\eta(Y)(-\phi X - \phi hX). \end{aligned} \quad (25)$$

Again from (23) we have

$$\nabla_{[X,Y]} D\lambda = -\frac{k}{2n+1} (\nabla_X Y - \nabla_Y X) + k(1+\lambda)\eta(\nabla_X Y - \nabla_Y X)\xi. \quad (26)$$

Now,

$$R(X, Y)D\lambda = \nabla_X \nabla_Y D\lambda - \nabla_Y \nabla_X D\lambda - \nabla_{[X,Y]} D\lambda. \quad (27)$$

Substituting (24)-(26) in (27) we get

$$\begin{aligned} R(X, Y)D\lambda &= k(X\lambda)\eta(Y)\xi - k(Y\lambda)\eta(X)\xi - 2k(1+\lambda)g(\phi X, Y) \\ &\quad + k(1+\lambda)(\eta(X)(\phi Y + \phi hY) - \eta(Y)(\phi X + \phi hX)). \end{aligned} \quad (28)$$

Putting $X = \xi$ in (28) yields

$$R(\xi, Y)D\lambda = k(\xi\lambda)\eta(Y)\xi - k(Y\lambda)\xi + k(1+\lambda)(\phi Y + \phi hY). \quad (29)$$

Taking inner product of the foregoing equation with X we obtain

$$\begin{aligned} g(R(\xi, Y)D\lambda, X) &= k(\xi\lambda)\eta(X)\eta(Y) - k(Y\lambda)\eta(X) \\ &\quad + k(1+\lambda)(g(\phi Y, X) + g(\phi hY, X)). \end{aligned} \quad (30)$$

Again, using (11) we obtain

$$g(R(\xi, Y)D\lambda, X) = -kg(X, Y)(\xi\lambda) + k\eta(X)(Y\lambda). \quad (31)$$

Hence, from the above two equations we have

$$\begin{aligned} -kg(X, Y)(\xi\lambda) + k\eta(X)(Y\lambda) &= k(\xi\lambda)\eta(X)\eta(Y) - k(Y\lambda)\eta(X) \\ &\quad + k(1+\lambda)(g(\phi Y, X) + g(\phi hY, X)). \end{aligned} \quad (32)$$

Antisymmetrizing the above equation we infer that

$$k(Y\lambda)\eta(X) - k(X\lambda)\eta(Y) + k(1+\lambda)g(\phi X, Y) = 0. \quad (33)$$

Replacing X, Y by $\phi X, \phi Y$ respectively in the above equation we get

$$k(1+\lambda)g(\phi X, Y) = 0, \quad (34)$$

which implies $k = 0$ as λ is a non-constant smooth function. Hence, equation (11) and Lemma 1 proves (1). Again Lemma 4 shows that the manifold becomes $*$ -Ricci flat, which proves (2). Now, putting $k = 0$ in (23) and taking inner product with Y and then tracing it we obtain $\Delta\lambda = \text{Div}(\text{grad}\lambda) = 0$, where Δ is the Laplace operator. The non-compactness of the manifold is used here, as λ is non-constant. Therefore, λ is harmonic proving (3). This completes the proof.

4 Example

In [7], the authors have constructed an example of a 3-dimensional $N(1 - \alpha^2)$ -contact metric manifold. In this example we can easily calculate that

$$S^*(e_1, e_1) = 0, \quad S^*(e_2, e_2) = S^*(e_3, e_3) = -(1 - \alpha^2).$$

Therefore, $r^* = S^*(e_1, e_1) + S^*(e_2, e_2) + S^*(e_3, e_3) = -2(1 - \alpha^2)$. Now considering the dimension and tracing (4) we obtain $\Delta\lambda = (1 - \alpha^2)\lambda$, where Δ is the Laplace operator given by $\Delta\lambda = \text{Div}(\text{grad}\lambda)$. If we consider $\alpha = 1$, then the manifold reduces to a flat manifold and (g, λ) is a solution of the *-critical point equation, where λ satisfies the Laplace equation $\Delta\lambda = 0$. Thus, our Theorem 1 is verified.

Acknowledgement: The authors would like to thank the anonymous referee for his/her careful reading. Also the authors are thankful to the editor for his valuable suggestions that have improved the paper. The author Dibakar Dey is supported by the Council of Scientific and Industrial Research, India (File no: 09/028(1010)/2017-EMR-1) in the form of Senior Research Fellowship.

References

- [1] Barros, A., Ribeiro, E. Jr., *Critical point equation on four dimensional compact manifolds*, Math. Nachr. (14-15)**287** (2014), 1618-1623.
- [2] Besse, A., *Einstein manifolds*. Springer, New York (2008).
- [3] Blair, D. E., *Two remarks on contact metric structure*, Tohoku Math. J. **29** (1977), 319-324.
- [4] Blair, D. E., *Contact manifolds in Riemannian geometry*, Lecture note in Math., **509**, Springer-Verlag, Berlin-New York, 1976.
- [5] Blair, D. E., *Riemannian Geometry of contact and symplectic manifolds*, Birkhäuser, Boston, 2002.
- [6] De, Avik and Jun, J. B., *On $N(k)$ -contact metric manifolds satisfying certain curvature conditions*, Kyungpook Math. J. **51** (2011), 457-468.
- [7] De, U. C., Yildiz, A. and Ghosh, S., *On a class of $N(k)$ -contact metric manifolds*, Math. Reports **16** (2014), 207-217.
- [8] Ghosh, A. and Patra, D.S., **-Ricci soliton within the framework of Sasakian and (k, μ) -contact manifold*, Int. J. Geom. Methods Mod. Phys. **15** (2018), 1850120.

- [9] Hwang, S., *Critical points of the total scalar curvature functionals on the space of metrics of constant scalar curvature*, *Manuscr. Math.* **103** (2000), 135-142.
- [10] Hamada, T., *Real hypersurfaces of complex space forms in terms of Ricci *-tensor*, *Tokyo J. Math.* **25** (2002), 473-483.
- [11] Majhi, P., De, U. C. and Suh, Y. J., **-Ricci solitons and Sasakian 3-manifolds*, *Publ. Math. Debrecen* **93** (2018), 241-252.
- [12] Neto, B. L., *A note on critical point metrics of the total scalar curvature functional*, *J. Math. Anal. Appl.* **424** (2015), 1544-1548.
- [13] Özgür, C., *Contact metric manifolds with cyclic-parallel Ricci tensor*, *Diff. Geom. Dynamical systems*, **4** (2002), 21-25.
- [14] Özgür, C. and Sular, S., *On $N(k)$ -contact metric manifolds satisfying certain conditions*, *SUT J. Math.* **44** (2008), 89-99.
- [15] Tachibana, S., *On almost-analytic vectors in almost Kaehlerian manifolds*, *Tohoku Math. J.* **11** (1959), 247-265.
- [16] Tanno, S., *Ricci curvature of contact Riemannian manifolds*, *Tohoku Math. J.*, **40** (1988), 441-448.
- [17] Wang, Y. and Wang, W., *An Einstein-like metric on almost Kenmotsu manifolds*, *Filomat* **31** (2017), 4695-4702.
- [18] Yano, K. and Kon, M., *Structures on manifolds*, *Series in Pure Mathematics 3*, World Scientific Pub. Co., Singapore, 1984.